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Note: Four possible answers A, B, C and D to each question are given. The choice which you think

is correct, fill that circle in front of that question with Marker or Pen ink in the answer book
Cutting or filling two or more circels will result in zero mark in that question.
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When marginal utility is zero, then total utility is: ) :g.t’:mb"J ;q.t'n}‘uGng...g -1

Maximum 353 (D) Minimum f;:_r( (©) Positive = (B) Negative ¢~ (A)

Per-?épita income means: : . '4-"/4'-‘3111-/ d -2
*2 Fobal income L ® Average income (47 kool (A)
Domestic income 847&: (D) ? Personal Income (4 lo‘f (C)

, Y AN s8] 3

The theory of comparative cost advantages of international trade was:

Pigou & £ (D) Robbins i #/(C)  Malthus J_.ujt (B) Ricardo i 35,6, (A)

The relationship between quantity of money and prices is: :g.uw b’u;f.’ubli‘&} 4
- Indirect L1 (D)  Parallel §315 (C) Inverse J:G" (B)  Direct =bLsl; (A)

e OB S b naed £ e | 5

When proportional changg in price and quantity of demand is same, the elasticity of]

demand is:
Less than unity H’:—JK’ (B) Infinity 5.0 (A)
More than unity u&)c.(j(’ D) Equal to unity /.I/.Z.JV' ©€)
The exchange of goods is called: - :q_t'l.gL‘JZl;l;ﬁ'l_/"!L*ﬁr?' -6
Monetary system (t" 9 (B) i . Barter system (.//‘Jl: (A)
Domestic system ("/ ‘f (D) Fiscal system (L” &l.)L (©)
The rate of zakat is: ‘ e LA
2% (D) _ 2.5% (C) 3% (B) 4% (A)
The methods measurement of clas.ticit?r of supply is: u!z;')LJSJJéJMJ -8
Four /¢ (D) Five &L (C) Two 1 (B) Three of (A} |

Average revenue is equal to:

_._ :9_3:14!4(}:’:&:1 -9
AC S D)  MCEFY ) . MR S (@)

Price =.d (A)__

m——

CamScanner



https://v3.camscanner.com/user/download

7 2 omics is 2 knowledge: e
~ satanic 362 (D) Social d e () Spiritual ks, (B)  Political (5L (A)
mcluded in measuring of national income: :.;_--t'lgguﬁvtﬁy';ﬁ(}jg(fd;fdf -11
" Services of household = s d2byG (B) Wages of labour FEATIRCS
Agricultural production sl 5.5 (D) Industrial production JI:U;G'# (C)
— ' = =
fhe phases of trade cycle are: :L}!J'”’LIQ(}J? .12
/___ Three £ (D) Two 5 (C) | Four Jtr (B) . six £x (A)
:' the long run under perfect competition firm always earns: 4_(}\{,{(/‘;&“//“;&&_@‘}; -13
? Normal profit GVL"} (B) Abnormal profit C’Vd:"’/ (A)]
— Abnormal loss UL“U"V/ (D) Normal loss @laid»™" (C) i d
Th€ other name of law of constant return is: :q_rtl/ub’(}'bdl».(c}jﬁ' -14
Law of decreasing cost JJWJM Il (B) Law of increasing cost ._:‘Jwifu)l? (A)
f Law of variable cost .uw/f" LY (D) Law of constant cost J;w{}u_fc;) ¢ (C)
T'l;-e—r;vard of use of land is: - ' :{__,;,b.(dwgg‘%,- -15
| Interestor (D) Rent w& (C) Profit Ot (B) Wage =7/ (A)
. 1 tez-bigh

TA -8 cC 7] A 6] ¢ 5] B 4] A 3] A 2] D -l
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Write short answers to any Six (6) questions: J
What is meant by economic problem? fes /U/c..PU' b (i)
e //Uy“‘ZLvJJ.de:»L*JJ/UIL /’//”u HE) 4

-u‘dr("l(}j,f(’lul.zfc.gfuwliul -2 ..u‘é/u"Ulf-“UJl/diu -1

_u°¢.nw’dfu -4 -u*dnw'u..,w;dw 3

G e rww.l/u'b»n/ IStk (2 )..,w”uw./ Gl 4, 2y
et y.lzdb»ir,:in_/w’

Professor Robbins has bases his definition on the following four facts of life:

L. Sources have not alternation uses. . :
2- Some of these desires are more important and some less |mp0rmnt.. -
4. Resources are limited

% Human desires are unlimited , e .
four characteristics (facts) come together at the same time,

Acc""dmg to professor Robbins, If these : .
"€ an economic problem arises when any on¢ of the feature does not exist, the economic problem

“ill not ar : -
Deine la:ir cqui-marginal utility. Y 1 FobIledb (i)
] ULFQL/.C’L(,_-_bd/@]b}’gﬂnl/fbiuf/”*”d"(‘—”L’J‘LL&'[J"’”[””LJ"”“ el
L PRI TGt fons bl
fit, a uscr should spend his limited moncey on different items in

ln
°fder imum bene
P e e R S t from each item is called equi-marginal utility.

ﬂaj that he gets the same end-benefi

A -
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Define services. ' : Jdm

e e Sl 2 ST P sl St SIS PG 242 I
There are intangibles that have value in the market and consumers can derive utility from them, ar,
called services. For example the services of a teacher,

What is meant by derived demand? fealp u’:""'bj‘? b (i)
JJ’JJPLJJLU/”:Z_/t/Jiré-d/”Lfg—Lé'ﬁ”j’rJJ"Jﬁ R

If you have to ask for another goods to meet the demand for one goods, the demand for dnotpe,
goods will be a derivative demand. ’

State two characteristics of supply curve. ‘40"‘-*1'")’";“"’5 v)
.sl..:lu"u"lyg;w -2 ' SGILCE -1 R

1. Increase in profits 2. Increase in cost of production

Define deductive method. éJ}’JJ)dlj'f i)

e Uie bl 3PPl L i e B S I Pl e e 3 P8 P i
[JU(J'J'JLU’/J JLJ(._),Q.ul/rlmln,(,)’u’l-gdbd’fvfa_uﬁb(fylﬂu’b.
-c_t'/Jf::J/d/JJ:_(ff(f(y”ﬂ~wc_:f

Deductive method means to draw conclusion from a generally accepted fact, such as the fact tha
man is mortal. From this it can be deduced that Aslam is also mortal. Similarity it is our common
observation that when the price of commodity increases, people reduce its demand.

Distinguish between utility and usefulness. VAL Sensianll (vii)

S AT (NP AR LA S LN AN N 2N u)Ui/d:;JLﬁJ)’)/u/VdU'LﬂC—J(. T

c.u?r‘ubFu"u'uowf’éj..éfduu_a/.i%} Rl /uvu*u*im b?u'plzlu’../fuy"
_mf cobo§ i Sl PP UL IO

The ability to satisfy a person's desire for something is called a utility, such as the ability to quench
thirst in water. While the utility are not usefulness because there are many things that are not useful
such as alcohol, opium, cigarettes, etc. It is harmful to human health because it has the ability to
fulfil human desire.

Draw exceptional demand curve. ETE > BIJBJI::;I (viii)
. A D, ) o "
P: .
1]
8 .
£n
D | —>
o X X
Quantity N
Define normative science. -«-’.-(J/J..‘:WIH‘ (i)

oz www’,&.uJM.J,M.MA’/Q,&.,W%.I Webne oot e Fulpa el
-Lbdﬂg/r’(_b‘&;/ 'fL‘oLLUK/A”/uuf//LJfLlpdrdbufg_tﬂ!._;f

Normative science refers to the knowledge in which circumstances and events are examined from a
particular angle and it is decided that they should be like this, for example, there should be .

prospenly instead of proverty, every person in the country should get bread, cloth and house. There
should be democracy instead of dictatorship.

i1 -.—.:U_-.uzf'?z:.:.uur(ﬁ)éa—df m

Write short answers to any Six (6) questions. -

Define marginal product. de&byg U

fumuu(_uu’m,w("'/db‘u'J/c-Lbfubb"tfu“bﬂ‘ﬁvéu’m)u‘,r’umyJ’ o
_.;tbufd’b/uiﬁ

When in a process of production, increasing the units of the variable factors with the ﬁxci@f_{ﬂ[?.
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/_1ction increases th i -
pductiont 7 S the marginal production o T e '
P.,ned law of increasing return, n each additional unit, then this phenomenon is
;

write do“lf‘l.l}e’dj:l;jtion of law of increasing return. 4‘{_,, /J’JJ'(' /"D G

increasing the variabl : . )
i 6 e factor units on a given factor, if the marginal production starts to fall, it is

alled 1aW of decreasing returns. ;
rite down the formula of average product. - Hminighst i
J’}'&J -
i Mibgg bl (AR
Average production = Total production
Unit of factor

pefine firm. . - -.;’.64/‘.’.{5’) (iv)
Ll EL SN oSl L i f/zr;..;3fu,ﬂg,,v&¢3nér:flﬁr} I
o = —ghrnJedriur

A firm is an organizational unit that controls a business. The firm's duties range from founding a

pusiness to making a profit. Example of firm is bata shoe company.
| Lffled” @

-de/gj.:f.;_.U):j/,‘/_é‘_'-/;[‘.{ﬂ:a’:"[r/'u{?g_t’nél?m!/;_dl?dr" ] 4
Normal profit is the profit that is enough to motivate a firm to stay in the industry. .

What is meant by long run? Y‘Lﬂ/gc_d_').lf (vi)
i P smm i P NE LSSt AANI RS Ve oty L 2o i
-ujZ.xZ’JJlgdéb(V'uﬁuﬁyz_/u;_J‘cfdi

rm can change its size, i.e., during this period the firm
In other words, all production factors are variable.

Define monopoly. ..46 n—é’}’t_{dﬂ)l‘/lﬂ (vii)

It Ké_w:.,,C»lqu:d;mm@ﬁ&(}d.ﬂc‘_u‘:,».q_éx_-)wdtJ Sl AR
P o MUY Y it S ,_?-"ﬁ:; g P B

hich a single firm is producing goods and not substitute for

else in the market. In Pakistan, for example WAPDA has a

pefine normal profit.

Long run refers to the time during which a fi
can also change its specific production factors.

A monopoly market is a situation in W
that goods is available from anywhere

monopoly on power generation and supply.
Write down two characteristics of land. . -46:40"»(!&) (viii)
-‘g::JM/Jd:J -1 2

e diB 2
1. Land access is limited. 2. Land is a natural gift.

Define capital. _ -46 i/ J:'L/ (ix)

u!):l:.;,Uﬁﬁﬂf’g’,gguuﬁJL-:".{_.Z-Lbz(‘}ifLLﬁ{;J::&]ﬁba..ﬁuf_v'»g&,ﬂ)l/;,it/ T

L i S E st i bk e

wealth that is used to create more wealth or increase income.

Capital refers to the part of income or
nd tools, raw materials, factories, roads, dams, power plants

For example: Machines, equipment a

cte. )
12 L -!&L'ﬁ}&:«ﬂ'ﬁ(ﬁ)éc&f '4Uff
Write short answers to any Six (6) i e
rof. Crowther? ?4_[_,6}_,{ J?L/ilfﬁ.’:{ ?})
;‘__,rL’:’/r(KJ}'}Ué,’AUﬁjSjVﬁJ:’ﬂJlb.ﬁho;{;c—&;?JJJl_/‘JféedI.L.fu'iuﬁ T 4
P ange and which performs the function of

Any commodity that is generally accepted as a foreign exch

Measuring value and storing value is called money.
S — e ——

questions.

What is money according to P

———————
— S ———
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3y e
What is meant by direct exchange or barter system? ?‘,'-?’(’—//J!&J!l?ub.u

i ' Gy
-‘}ctl?gf;u,zz.bt_;b’u:gumu‘:;:,?&»h:»!#‘é-dfd:‘fzé-"-“’bd"'/‘éfjd&" el
"Barter system refers to an economy in which a commodity is not popular and things'ar'
exchanged.” ' “ . ¢
Define value of money and how it can be calculated? ?‘Ldlgdléftf SJJU’@{‘-‘-‘-’/‘? o (i)
Ll JEE S 0 L P i e a i Wanpe 03y
The amount of money refers to the purchasing power of money. Different methods of inge,
numbcfing are used to measure the value of money. s
What is meant by velocity of money? . Ty E(G”.wf (iv)
- QS8 ie dn Pl e By Lirhionss oy
The amount of money that is transfered from one hand to the other is called the velocity of money,
What is meant by international trade? ' Y."’/g"‘” oIt )
L g ST e A i ren L UL VI i
Trade between people of two different countries is called international trade.

Write four advantages of specialization. -40;,'}’ b L K‘f;‘? ()
-.:'_L‘,‘J‘/,JE’JJJ -2 . -%Lﬂﬁ‘:—f.-}’d/""-‘; -1 el
ulbbe ialldlaFE 4 ~g- o€ 07k 3
1. Production methods are improved. 2. Employment increases.
3. The country is on the path of development. 4. Precious resources are saved from being wasted.
Differentiate between private and public finance. | -q!UJ}uﬁ’--«L’anfdA’/ (vii)

L b A U e e P LTS e PP P LI e P ba U it
et W EIA L AT NG 3 B I e 3/ o s uTE e
Public finance is. the branch of economics that deals with government revenue and expenditure. It

examines the sources of government get its revenue and how it spends it. The study of private
individuals income and expenditure accounts is called private finance.

Define tax. _ -._z.’:’..y/'JJg (viii)

’ -45_3%?4({4_&11}&._)!;"'&::;’.‘;JQJJ:’L@LABL-)!:(;/:G;?Q‘_.uc-:b!dJUu’.".ng I
Taxes are a mandatory payment to the government for services rendered for the benefit of the
common man.

Define trade cycle. : ) -g?',:( -3 /"'J,E G (i)
JJJ(}JJQ_J}W/KURJ e[ dJL;C_ ZJJ‘LQ:L;JJJ{J}JQJ)W-’ZKU)? =0 UP ’J;L;"él/gd)b: 4
‘ -q_rxJ’:;Juu:z,/‘

" The trading cycle consists of good business conditions such as rising prices and declining
unemployment rates and trading conditions such as falling prices and rising unemployment rates.

((”J’) 4
G L F e et S 2

Note: Attempt any THREE of the following questions.

g - LUt LB et e 35 A
What is meant by law of demand? Explain it with the help of schedule and diagram
8 ' . -.g",:(r’/? '5/3'91':"1.(.3'12:.«? UJJJ/JU; v %ﬂ'f
Explain the law of supply with the help of schedule and diagram. - -
8 _ ...{,':o-"UJ('/?ILJ!;J@J@J@JJ‘I;JIWUJFm
Explain the law of decreasing returns with the help of schedule and diagram.

8 v -,;.",.fwL'osJulul'_éuggl,ﬁﬂL&ﬂd;m
Describe and explain the various concepts of national income.

Describe th ons of taxation. 8 Sl i St m
escribe the can ;UQ&J”LLJ:&J/

’
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